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4. Monopoly results in a misallocation of resources and hence is undesirable from
society’s point of view, In maximizing profits, a monopolist restricts output and
drives up price. At the output a profit-maximizing monopolist selects, the price
consumers are willing to pay for an additional unit of the good exceeds the
marginal cost of supplying another unit of the good. Hence there is a deadweight
loss to society—a loss to consumers that is not offset by a gain to the monopolist.
The deadweight loss due to monopoly can be seen in the following simple
diagram,

Dollars
per
boitie

The Deadweight Loss of Monopoly
The competitive long-run supply curve is R
LS; if the industry is competitively ' Deadweight loss
organized, autput is Q and price is P. With
monopoly, LS is assumed to be the same
as the monopolist's long-run AC and MC
curves, and the profit-maximizing output
is Qy at a price of Py, Price is higher and
output lower under monopoly. The
shaded rectangular area shows monopoly
profit. Triangular area BCA is the
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